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QUESTION 1

Moose is the most important game animal in Alaska.

A. Moose is the most important game animal in Alaska

B. Moose are the most important game animal in Alaska

C. Moose, the most important game animal in Alaska

D. Mooses are the most important game animal in Alaska

E. Moose have the most important game animal in Alaska

Correct Answer: B

This sentence has an error in the verb that follows a plural noun “'moose\\'.

Option "Moose is the most important game animal in Alaska" uses a singular verb (is) in the place of a
plural verb.

Option "Moose, the most important game animal in Alaska" does not have any verb.

Option "Mooses are the most important game animal in Alaska" uses a wrong plural form of the noun
(mooses).

Option "Moose have the most important game animal in Alaska" uses an auxiliary verb (have) without a
main verb.

Option "Moose are the most important game animal in Alaska" uses a plural verb “are\\'. That is appropriate

with (he) noun; hence, it is the correct answer.

QUESTION 2

The first priority of any organization should be to make employees happy and customer satisfaction naturally follow.
A. customer satisfaction naturally follows.

B. customer satisfaction will naturally follow.

C. customer satisfaction was naturally followed.

D. customer satisfaction is naturally followed.

E. customer satisfaction to naturally follow.

Correct Answer: B
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QUESTION 3

It is said that people come to Alaska for six days and end up staying there for a six years.

A. slaying there for a six years

B. staying there for any six years

C. staying there for six years

D. staying there for the six years

E. staying there for some six years

Correct Answer: C

This sentence has an error by using an article in an irrelevant place. Usually articles are not used before
the adjectives of numbers. Options "slaying there for a six years", "staying there for any six years" and
"staying there for the six years" use articles a/any/the. That is irrelevant to the context.

Option "staying there for some six years" uses an indefinite pronoun (some). Which also irrelevant.

Option "staying there for six years" is correct, without any article (staying there for six years) it gives a

complete meaning to the sentence; hence, it is the correct answer.

QUESTION 4

"Susan hastily read the letter to see if she had been accepted into her top school.”
Read this sentence and identify the modifier among the answer choices.

A. letter

B. hastily

C. read

D. had been

Correct Answer: B

QUESTION 5

The oil is transported via a pipeline that runs north-south no Alaska to port of Valdez.
A. that runs north-south on Alaska lo port

B. that runs north-south in Alaska to port

C. that runs north-south to Alaska to port
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D. that runs north-south into Alaska to port

E. that runs north-south across Alaska to port

Correct Answer: E

This sentence has an error by using an inappropriate preposition. It is the only possible notion that a pipeline can run

across land; there is no other possibility according to the context; so option "that runs north-south across Alaska to port"
is the correct answer. Whereas other options use inappropriate prepositions (on/in/to/into).
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